710/800/810_ ]
Installation Instruction

1.Lock Mortise

2.5T4x25mm S5 Countersunk Screw (Wood Door)
M5 12mm 55 Countersunk Screw (Other Door)

3.Front Panel Assembly

4.Pane! Connector Nuts

5.Spindle Spring

&.Front Panel Square Spindle

7.Cylinder Tailpiece

B.Mortise Motar Wire

9.Power Wire

10 Mechanical Key

11 Water-proof Rubber Pad

12 Back Panel Cover

Mote:Before installation, please reconfirm if the mortise is consistent with the demands of door lock
(mortise screw direction, mortise spring bolt direction and shifting block direction). then proceed to next

Installation step.

Reminder:All diagrams here are for reference only, specifications are subject to the physical praduet.

13.Extended Panel Fastening Screw
14.Back Pane! Assembly

15.Power Wire Socket

16.Thumb Turn Tallplece

17_Spindle Spring

18.Back Pane! Square Spindie
19.Extended M5 Countersunk Screw
20.M512mm Countersunk Screw
21.AA Battery

22.Battery Compartment Cover
23.Handle Reversing Mechanism

76.5
1 x
||||||||||| 8 .. e
T @
. TN
w ] o
M | ! 1 * ! | | nN
o | & ! | ] ] - | e | -
S | = “ i g I - i @ Qe
= | | | | o
: B L4 8 B 8 ©
1 1 1 1
g ! L 45.0—» ! !
o i ! I ! ! i
1 1 1
I I I I
1 ] ] 1
zc-gzman : With 3 “Mm.hon_mm.m_ma" _ i |
£52Ffcs | i il I I
BEEw"2:s
.5-282% H o.7rCO
£%:0:08 2
spiEi | s . = . . 5 ey
832 5753 i .H o7 Ql g
togu.8 _GFE ! ~¥E
§-88z3cus i Xo-—-h _ _
HogSs88_§ | j | L5
d-Lo8a=0% | T 1 ”b‘la 1 “ “ -
|
! i | 1 | | o
~— : ! I | |
£3 | | | | | |
=] I 1 1 1 1
s L m m m m
> i
o | | | | | | =]
W B _1|ua.u : 76.5 »e 68.0 N 52.0 »e——— 36.5 ! s
=4 ] 1 ] ]
R._Ma 1 i | l i |
= | ! | ' ! |
b=t : !
1+
M~ = ! |
= -
: & Ok
- B 1 L RN e A PRRAEEGE 1 CRERE R
uw b —
5" ¥ _ N B
£ o N | N 2
5 H =] | o
s o g ! e il
o = ! 2
BoQ 8 | g S
z s (] ! s
: 2 “ R 8
)3 2 !
= | £ “l|hm.ﬂ|vn
o =




510
Installation Instruction

1.Lock Mortise

2.5T4x25mm 55 Countersunk Screw (Wood Door)
M5 12mm 55 Countersunk Screw (Other Door)

3 Panel Connector Nuts

4_Spindle Spring

5.5quare Spindle

&.Front Panel Assembly

7.Fized Plate

&_Panel Fastening Screw

9.Extended M5 55 Countersunk Scraw

10. M5 12mm 55 Countersunk Screw

11.Back Panel Assembly

Tips: Before installation, please reconfirm if the mortise is consistent with
the demands of door lock (mortise screw direction. mortise spring bolt
direction and shifting block direction), then proceed to next installation step

Reminder: All diagrams here are for reference only, specifications are
subject to the physical product.

Thumb Tum
Talpieca

Motor
Motor Wire  Comnecting Wire

oL—0 (POo

o O (POo



